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(adialadl dill) il pogllly unsloaadl -Baldl ot
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wilohe mite : aladl go) Gilakea (£) wi¥uil] iV
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Lo o yadl i d o SI1 ol i il o aSLallg
salpdl | yadadl 2 il R ol eeee o
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e
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: w_?!)_IJ ole Lozl
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Cilaka (£) cithill ity ol il st yall o] alimds el | gl | gy
sl dlgiuss il g T g9all — Yo VA/Y VY sl yall ol
el ] ki i i g g (i) 2l ) ! gl b hgual - Bald
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daga Cilalas ]

Nsas (£0) laia¥) A S Al ae -

Asdia (YA) plaia¥) 4ul S Silstia 22 -

i g gd claie¥) dul S Cladia de ey ALY a8 55 e S -

(el &) HLaaY) e -

A () SRl A Ax all -

p Agling clagladl) oda T8 ., alllall (g 338

ALY e conl s g Al Ladie sl laia¥) Al S dadie ol su 12 Cilagletl) 80
Alla) o) J8 Tas 48 S dling Jgad) T

I JS (o Jadh Baal g dady LlaY) ugthall g ¢ pladd daa jia AlinY)

A e ahadil ade 5 ocla sus )l 3 Galia Al ¢ DU (35580 Calad) A8l aas)
dalial dalall Al s Ula Dl danadiall dalwal) 8 ol Adlial) Al WU elila) 2ie
Go S elila) )5 ¢ L) 8 GY) e 5 gusall Cladia B s JLSE ) (S 5 A
L e oy Ca s A

g\ ol

4 (B) ol (A) oo el BbaaY) Adad) A e olils) v
ra g Of i G JUEAY) Aliud ¢e dlijla) die 8
e U0 DL Sl danall Ay e JIal) Sl cld 3 y3lall JUs
Mia (C) dagnual dla 10

: Aaauall 4daY)

®O®

Anna WY cad dagaias Ala) Cualy el a5 clad Als) Conl 1Y Ledlls & -
Lot LY o Uad 4la) Cual s Ghdlly cad 2 ¢ dagaa Al cial 13 Ll A5 -
: A gala
a9l Say e SSH e Sl a5 )] (aaia G JLIAY) A puda gal) ALLY) Ala B
ol 4iay) el ¢ Alay) ) S
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Answer the following Questions: PAGY) AL e o
1- Answer one the following (A) or (B): 1 (20) 91 (1) o 3uadt s yisnt =)
Write the scientific term: 1ole JIA elal! llaael | CAS)

(A) The branch which is mainly concerned | ¢!k s/seatinte g2 oe g2 -
with the study of minerals, their Dsbaed! ““5““"‘ :““"j o A
physical and chemical properties and S o L] Mj

. Sdyeld! Lgiadanl

the forms of  their crystal systems. | |y, 2co S

(B) Fractures or cracks cu‘Fting rock . b SLaA Ty e Lesils cayasy
masses and accompanied by relative A8 > Lo Lo iy ycall J3sd|
movement Ol le Aadigiall jgoall dwd
(Displacement) of rock masses along S g

both sides of its plane.

2- Answer one the following (A) or (B): 1@ () 91 (1) on3uadt A y330 - ¥
Choose the correct answer: 1dadd dovouall Ll N1 S
(A) Limestone as a constituent of the B 252 5 (Gt | ot iy

earth’s crust is classified as: e gend [yt T ¥ B poctiBt |

P ERIE P | s
(@) Silicates sttt (1)
(b) Sulfides R @)
(c) Carbonates abigsst

@ Oxides o @
(B) The ability of mineral to reflect light £ guall uSe e Otnod! B8 B yad —u
that falling on its surface. | e 3 4

(@) Streak it (D)

(b) Hardness sastatt (Q

(©) Luster ! @
@ Colour Yy @

2 AWl ol
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3- Answer one the following (A) or (B): 1@ (@) 91 (1) o 3t A y330 ¥
What is meant by: 13 dguaiall Lo
(A) oil shale. laait! Jatatf |
(B) Lopolith. ROV PEPSL R
4- What would happen if..................... s e Gakon 1316 - &
Eroding the agricultural lands. $2e 15300 A S gyl
3 A aals
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5- Justify the following statement: il let Je -0
Although colour is the most obvious wilaw 381 ga Gused) 09t O 02
property of minerals, it may not be very Lsasd red W1 ALIS Aaio 31 W) s 9oy
useful for their identification. O3lasdlle B, 2

6- Mention: 1830 -1
One similarity and one difference between: | o :aMiad 51y 4laalt Leay
Oxidation process and acid rains. et jlaadly sV dules

Oxidation process acid rains
BuuSY ddac dnasd) Hllaoe ¥
similarity
aslaay
S
4 AW 5
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7- Study the given figure and answer the

Lo (pe e f @ (YL SIS (i pa) -V
following (a) and (b):

ok

ST Sl

g
i Lt P Bk

Oceanic plate

Subduction zone
Gzt ulwaa¥ 1 Bliad 3

Continental plate
SHldzet

(a) Mention the type of the tectonic

Aiicod! A0 giSOt ) AS ym) £90 =29 :’}'31
movement represented in the given figure.

38 el Sy

(b) Give one example for the rocks that

1 45a11 ) giuall 1oy Ylie cast Lol
forming (C) and one example for rocks | sssalt lisis e @3 (C) 3
that produced from (B).

{(B) (e 2y

8- Write briefly on:

Herbivorous animals as an example of

O el b COSH -A
consumers on desert environment.

ASUgad | SLAISY JLieS Codiall & MST

A gyl | A LB £10al

5
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9- From your study, explain “Solving the 1)) Lo S0 -4
problem of spreading urbanization” (o ead) a5 WS £ Byl

10- Answer one the following (A) or (B): 10 () 91 (1) ottt i yisns =) o
Werite the scientific term: 1ol JIAM elall mllaael| LS|
(A) The breakdown of rock masses into Lo ol dad (1 vl a3 (1)

smaller fragments of the same mineral | ssalt 2ssett palastt uds (e
composition as the original rock or aadal) A gand) Jalgall 50 i
decomposition of the rock into its 91 AleasSI) g€ )5 B uad O
constituting minerals under the effect ael!
of physical weathering conditions e ()9S St cdie sl US4 ()
without change in its chemical or St olas HLga ¥ sl sLand!
mineral structure. 0is e Lo o yid Oyl
(B) A Land form of triangular shape, Sl

which formed when rivers joined

with seas and lakes, the load of

sediments that the river carry will

be deposited.

6 A aals
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11- What is meant by:
Specific gravity of mineral

1= guadelt Lo -\ )
S0maell e gl (55l

12- Choose the correct answer:
All the following are primary geologic
structures except ..........

@ Mud cracks
@ Ripple Marks

@ Joints

(d Gradded bedding

13- What would happen if.....................

There is scratching between fluorite and
topaz minerals.

1dadd dovowall ol 5 -\ Y
s
AT 51 ST (30 s Lo ISty

s Loctie Srtony 130 -\ ¥

Lo Hamas Coyglall Gume lisn

7
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14- Justify the following:

Gabbro differs from basalt, while both

have the same mineral composition.

1k Lat Je -\ ¢

O el Ll (e g bttty

§raetl Logus )5 aulds
(@M Gl dladin LaT1S0)

Gabbro

bl

Basalt
L

15- Compare between:
Overgrazing and the over hunting,
concerning definition only.

1o QL8 -\ 0
Co (pa) MLt wall g ket i e
(Ja.ﬁ.‘nue).a:d‘

Overgrazing
JUPS [PPSR T

Over hunting
JUPKIROPRY

8
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16- Answer one the following (A) or (B): 1 (@) 9F (1) otV dt |yt -\ 1
Explain: st
(A) The rock salt layers had accumulated | 1 csi i ase g tan s Lo i
during the Permian period occurred | s g, seatiptonicla s osi,s
in central Europe. sl pumadl o8 Ligys]

(B) Determination of the Location of U3 3S e Bh Al st
Epicenter of an earthquak.

17- “If we started with an amount of Oladilgll cyaaa 0+ + Ll (IS 13, -\ V

phytoplanktons that weight 500 grams” - AG LA
From the previous statement answer O e B ylat) 0UD 5 gids (B
the following: PG ALY
a- Calculate how many grams of 1F will B 11 a5 Ll oS i < g1

be move to the following trophic level g SLailgl o

1n.the zooplanktons. . | e AelS Bty At Sl
b- Give one complete marine food chain. AR AR

9 A aals
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18- What is the importance of: s Akt Lo =\ A
Photosynthesis process for continuation | shed! msiu¥ sl sld) ddee
of life. Sua)¥ e

19- Answer one the following (A) or (B): 1 (@) 91 (1) ot uadt iyt -1 4
Write the scientific term: 1ol J1AM alall mllacel| LS|
(A) A huge vast landmass started since 339> g0 COIS My 48 Seall 3,

220 million years ago to split into O g Cas ple Ogule YT+ S
pieces far apart from each other and | 2s,aeli Gla leie gind Juasis
they achieved their present positions. P!
(B) A scale used for measuring the oulide g9 JHYV5IN BAdY ulide -0

intensity of earthquake, where itisa | e z5baisleidt e it e s
specific measurement of the damage oA (L1 Jad 359 J150 51
results by the earthquake beside the

reaction of people by it.

10 LA 5
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20- Answer one the following (A) or (B): 1@ () 91 (1) o1 3l t T y330 =Y
Choose the correct answer: 1dadd dovvall Ayl ¥ s
(A) Geological time scale is not complete | SlS o= st gent! | JLeS1 pac -

in one place due to......... | e dalaie g1 2
@ Presence of anticline folds e Olds 395 g @
@ Unconformity surfaces L3219 pue @
@ Orogenic movements Sl AL OISy Ergus @
@ Extinction of giant reptile A8 aallcaslg 331y pa3! @

(B) One of the earth’s internal structures with | deas o2, ads it obisSall aai -0
a thickness about 2100 km and consisting | o= <21 hests ¥1++ 31 4Sou

mainly of molten iron and nickel. | ISeilly astly9gas

@ Inner Core EENNT AL { @
@ Upper Mantle Ll (re S alall £ 5t @
@ Outer Core IES N (L] @
@ Earth’s Crust A ¥ 5 yauat @

21- Answer one the following (A) or (B): |:@a3 (<) 5i (1) o 13wt asmi yaset =Y
What is meant by: 12 Sguadiall Lo
(A) Tropism Seloa ¥ i
(B) Biosphere. Sgsut I A o
11 alwd &b
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22- What would happen if ............... sdie Grdony 13Le =Y Y
There is a different hardness of rocks on | o6l e ssomal! oMo eSS
both sides of the river. 3 el

23- Justify the following: sleal 8 ugele ,l3 yedll ¢ gty -YY
The moon light has a pronounced effect gy o | 9t
on animals living on the sea shores. -3)lalt ola (L3

24- Mention the importance of the s dtad] 430 -Y¢
following: g9 S Me Laa | Aold)

Building of nuclear reactors.

12 LA 5
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25- Study the given figure and answer the | Lee cooi @ LI S Guysl -Y0
following: e
(A) This figure represents ............ | == dio Jaud 92 gad) JSEI) Y

Aot 1! (5 pna
River stream

(B) What are the causes of formation of | sewlartiois 0555 clwi o Lo :Lols
these clastic sediments? skl

(C) Which sediments are older C or A?, | 4i (A) 1jec pudl ceuly 1 s si L1
Why?. sisLety (C)

13 LA 5
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26- Compare between:
Play of colour and cleavage, concerning
definition and give mineral examples.

1008 IS {ma yl8 =¥
G (e pleaas¥iy OlgI¥ 4o ye
LOalaat! (re Aiel S po iy paid

Play of colour
O o e

Cleavage
plady ¥

Definition
il

Example
Alial

27- “Granite and quartzite are two
different rock types”

(A) What is the texture and mineral
composition of granite?

(B) What are the geological processes
responsible for the formation of
quartzite? and mention the produced
texture by these processes.

sl C 35515511 5 Ct yad! YV
 393walt pa OLaline
(38 St | s Sl waiLe ¥
§ hotnall oS 3013 gransid
1 gl a1 o Lo Lol
5431953y Lgscpas 035
S e .95 98 Loy

14
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28- Answer one the following (A) or (B): 1o (@) 91 (1) ol 3uad) A y23n0 - YA
Write the scientific term: role JIAN elal! mllaal! CUS)
(A) Those resources are constantly Aacdall a3 bl gie a3 31 s ylgatl -

available in the biosphere because of | Le souasidly yreiu¥t e Lg3uat
its ability for continuity and renew (>0 Lol B OLud ¥ comay @
unless man causes its extinction or Loy g0.05 9 Lgd! ikl gl Aked
its depletion and deterioration. AkeasIt Sleliall (yo Zegeme-c
(B) They are chemical industries Olaticie g GlipSe Lgwslosl ot
basically depend on components plane dclie B culis Jgid!
or oil derivatives, which produce LIV gy Olaws ¥ dalisy Lo
most of what man need in his life £l slgay Olataielly dueliall
and those product synthetic fibers,
detergents, dyes and paints.

29- “The concentration of the salts Lo o M dmglod o> ys Crglatis, - Y4
dissolved in the sea water varies cods Alaematl Fliadt g plat
according to the surrounding climatic | ' s5<2 =2 3)leati ol (3L
conditions”. Sy

Discuss this statement in the light of
what you have studied.

15 LA 5
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30- Write the mineral of each of the 50 JS ole JIAN Suaalt (! COS) =Y
following statements: ¥y Al Alany ddiid Sas Outas |
(A) A mineral scratched by copper coin B IPT-REQOW
and can’t scratched by the finger nail. | sy pudsliasll s pase —o
(B) A mineral attracted to magnet and is el syt delio 2
used in the steel industry.

31- Give reasons: sk Lat Coal ! 5831 -1
The study of animals and plant fossils A gl o AL M Al piald
1s one of the evidences supporting the EYPUNTENVE O (QUVNPY-A (PN P XL
theory of Continental Drift. LS LET o ¥

32- What are the results of: rode A el gL oo Le -YY
Collision between two continental plates, | cmwsiss (st (o qolat a5
give example. (Jlie 5S35 pa Soyla

16 LA 5
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33- Choose the correct answer: rdadd Aovoall Agla Wi Tl - VY
When the temperature becomes Twlin pud Byl | A ps 0555 Loctic
somewhat unsuitable in the medium, 1 ST dd has 01 dagll
............. revert to cyst formation. 53k 9 (33955 A1 oo Ll

@ Bacteria b s @
@ Protozoa W P (R PP | @

@ Insects PO PN | @
@ Reptiles g @

34- Answer one the following (A) or (B): 1@ (@) 91 (1) o 13t i y33) 1€
Give one similarity and one difference | ~>7s 43l 101y Ly cSH
between: -2 MU
(A) Peridotite and Rhyolite et 9119 Cosiguns -

(B) Sandstone and table salt rock. ‘$raliplalalizleg Gla b pomandl -0
Similarity | L
daLa
Difference o s G AN
oY
17 AWl
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35- Study the given figure and answer the

following:
)

3)

&c%‘ R (=T LY S (ouiya) =Y O
1 4G Al

K - s - .
L
k- e s e

nnnnn

3)

2)

(A) Write the name of the geologic

structures (2) and (3).

(B) The type of texture to be

mentioned,

if rock number (4) is a mud rock
subjected to pressure and heat due to
the intrusion of the igneous body (1).

18

O $ gt (S 530l S| ¥
() «(Y)

Wl B 3l gowdt p g S50 : L3S
O EJL.«.: (i) @)M' Ols 13
8l g darial 4o ol Sldds yvio
(V) oL eSS Ao

Al &b
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36- Explain Briefly: b by 7 a0 ¥
Degradation effect of ground water: Sl ¥ olsoll (oourgl! Joatl

19 LA 5

CIA 7 (VG o)l - A=alyol) dulinl) A



L 5 9T - (A 3o WY ARy ) Aot o glatt g Liom oF g uom - ¥+ VA/ ¥+ 1Y (o ) plad - Rala) Ay g3 Zaal 5N ALEN B3l Lol

37- What would happen if ................ s &y 13ke =YV

Two groups of sedimentary rocks, the
older group layers which are tilted and

the younger group layers are horizontal.

Sladall (b0 de game (95T Leie
G0 degoemnlaglaialile ?..\J;Y‘
Saaa¥| oladat

100 JS le JIAd @B ) COS| -YA
EENRUPNL (eI
lagd! dlew —o

38- Write the number representing:
(A) Density of inner core.
(B) Thickness of the mantle.

20 LA 5
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39- Answer one the following (A) or (B): 13 () 91 (1) ot 3udt Ayt -¥4

Explain the following: NS
(A) The generalization of planting a By Sle 530 maeald bt H5Y1 -]
cJgaall

single crop in the same soil.
(B) Solving the over consumption of
water problem.

Ll l sl z5Me 3yl —u

role JIU alall allamelt LS - »
Olguomd ! Olaline Jo g3 (pe gLl ! HLa!
39398 Adiiually Auely3 ) Olalsallg

($ e 358501 (ye Sy

40- Write the scientific term:
The Conversion of animal and
agricultural wastes to gas which is used

as fuel.

21 LA 5
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41- Justify the following: 1ok Lt Jle -8
The body of the Sphinx, which was i Ll Jagd) gl mlaw 55¢ls
smooth surface during its construction, a8 OIS Lot G524 i3S pualel|
but now it is fractured and rough. T sauan g pubal

42- Choose the correct answer: 1 JaG8 Aoviouall dala ¥l yisl -8 Y
Green plants which converted light J5o3 A 8 b I OLSLAT | pia
energy into chemical energy are het bibeesS A8ls (F| Apclad ¥ A8 UM
considered as:

@ Consumers 1Al aigiue GLSIS @
@ Producers 108l Aie GLSIS @
@ Decomposers Allse GLSIS @
@ Saprophyte .oy GLSIS @
22 LA 5
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43- Study the given figure and answer the sl @ LI JSAT gyl - €Y
following:

(1)

Cewlg)

sediments

s
S, ).?._a-.:dl
2; l 1‘2 lithification

metamor“phlc rocks

(A) This figure represents ............. S S 18 S fiLe + ¥

(B) Write down the name corresponding | «(}) o JS ole J1ud pud1 81 L3l
to each number 1, 2 and 3 (1) ()

23 LA 5
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44- Answer one the following (A) or (B):
Compare between:
(A) Epiorogenic movements and orogenic
movements. (two points only)
(B) Divergent plate motion & Sliding
(Transform) Plate Motion
(concerning: definition)

1@ (@) 91 (1) Va5 - 88

1o (LB

RAT SN (PRAR AR BT W [RCAT GO T
Il o Shat aald)
(dadd (yidadiy 4584)

LAY HVIAS pollg daue LAt aS ot o
S ST 98 U
(L o o (30)

24
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45- In the given figure, number (1) is 1 GIL JSad 8 - g0
representing the water table in a land | o? obes? cpcin izgn (V) @2

sector. )l gllad

a. Which number (2) or (3) represents the | x& Sladati gies pued i i - ¥
unsaturated zone with water?. (1) 51 (Y) oleatls Bt

b. What is the source of these sy ¥ olead | LG e 9o Le :LolS

underground water?

ale¥ g

25
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